
General Studies            Prepared By winmeen.com 
Tnpsc Group 2 Previous Questions : https://goo.gl/PYqsd7   

 

Install Winmeen Mobile App : https://goo.gl/s3YY9V                                                         Page 1 of 28 

 

TNPSC Group 2 Model Question Paper 2 

General Studies 

1. Who has developed and demonstrated the first nuclear reactor in the year 1942? 

 (A) Bhor and Wheeler   (B) Enrico Fermi 

 (C) Albert Einstein   (D) Bhor and Mottleson 

 Ans - (B) Enrico Fermi 

 1942k; Mz;by; Kjd; Kjyhf mZ ciyia mikj;J nray;gLj;jp fhl;bath; ahh;? 

 (A) Nghh; kw;Wk; tPyh;   (B) vd;hpNfh /ngh;kp 

 (C) My;gh;l; Id;];Bd;   (D) Nghh; kw;Wk; Nkhl;ly;rd; 

 Ans - (B) vd;hpNfh /ngh;kp 

2. The First ionization potential of Na, Mg, Al and Si are in the order 

 (A) Na > Mg > Al > Si   (B) Si > Al > Mg > Na 

 (C) Na < Al < Mg < Si   (D) Si > Mg > Al > Na 

 Ans - (C) Na < Al < Mg < Si  

 Na, Mg, Al kw;Wk; Si ,tw;wpd; Kjy; madpahf;fj;jpwd; ,e;j thpirapy; mikfpwJ? 

 (A) Na > Mg > Al > Si   (B) Si > Al > Mg > Na 

 (C) Na < Al < Mg < Si   (D) Si > Mg > Al > Na 

 Ans - (C) Na < Al < Mg < Si  

3. In the given reaction, which one is conjugate acid of acetate ion? 

 CH3COOH + H2O _________ H2O
+
 + CH3COO

-
 

 (A) H3O
+
    (B) CH3COOH   

(C) H2O    (D) Both H3O
+
 and CH3COOH

 

 Ans - (B) CH3COOH  

 nfhLf;fg;gl;Ls;s Ntjp tpidapy;> mrpl;Nll; madpapd; ,iz mkpyk; vJ? 

 CH3COOH + H2O _________ H2O
+
  + CH3COO

-
 

 (A) H3O
+
    (B) CH3COOH   

(C) H2O    (D) H3O
+ 

and CH3COOH
 

 Ans - (B) CH3COOH  

4. Give an example for Non-Renewable Energy 

 (A) Wind (B) Fossil fuels or coal  (C) Solar (D) Water 



General Studies            Prepared By winmeen.com 
Tnpsc Group 2 Previous Questions : https://goo.gl/PYqsd7   

 

Install Winmeen Mobile App : https://goo.gl/s3YY9V                                                         Page 2 of 28 

 

 Ans - (B) Fossil fuels or coal  

 GJg;gpf;fjfhj Mw;wYf;F xU vLj;Jf;fhl;L jUf. 

(A) fhw;W    (B) vhpnghUs; my;yJ jhJ 

(C) #hpa xsp    (D) ePh; 

(B)  Ans - (B) vhpnghUs; my;yJ jhJ 

5. Which one of the following is a common respiratory substrate in plants? 

 (A) Proteins (B) Lipids (C) Carbohydrates (D) Fatty acids  

 Ans - (C) Carbohydrates 

 gpd;tUtdtw;Ws; jhtuq;fspd; nghJthd Rthrj; jsg; nghUshtJ ahJ? 

(A) Gujq;fs;    (B) ypgpLfs; 

(C) fhh;Nghi`l;NuLfs;  (D) nfhOg;G mkpyq;fs; 

 Ans - (C) fhh;Nghi`l;NuLfs; 

6. Which organ or gland of the human body is secreting Insulin? 

 (A) Thyroid  (B) Adrenal  (C) Pancreas  (D) Liver 

 Ans - (C) Pancreas 

 ,d;Rypd; kdpjdpd; ve;j cly; cWg;G my;yJ Rug;gpapypUe;J Ruf;fg;gLfpwJ? 

 (A) ijuha;L  (B) ml;hPdy; (C) fizak;  (D) EiuaPuy; 

 Ans - (C) fizak;  

7. Plasmids that carry genes coding for colicins. 

 (A) Fertility plasmids   (B) Resistance plasmids 

 (C) Col plasmid    (D) Virulence plasmid 

 Ans - (C) Col plasmid  

 Nfhyprpd; cUthf;ff;$ba [Pd; njhFg;gpid nfhz;l gpsh];kpl;fs; 

(A) fUts gpsh];kpl;fs; / ngh;bypb gpsh];kpl;fs; 

(B) vjph;g;G / nu]p];nld;]; gpsh];kpl;fs; 

(C) Nfhy; gpsh];kpl;fs; 

(D) tpUyd;]; / er;Rjd;ik gpsh];kpl;fs; 

Ans - (C) Nfhy; gpsh];kpl;fs; 

8. In the memory of which person, recently the Government of Maharashtra expressed its interest in buying a 

house in London? 

 (A) Mahatma Gandhi   (B) Motilal Nehru 
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 (C) Jawaharlal Nehru   (D) B.R. Ambedkar 

 Ans - (D) B.R. Ambedkar 

ahUila epidtpw;fhf> mz;ikapy; kfhuh\;bu muR> yz;ldpy; cs;s xU tPl;il thq;f jd; 
tpUg;gj;ij njhptpj;jJ? 

(A) kfhj;kh fhe;jp   (B) Nkhjpyhy; NeU 

(C) [t`h;yhy; NeU   (D) B.R. mk;Ngj;fh; 

 Ans - (D) B.R. mk;Ngj;fh; 

9.  Who among the following is not a recipient of the Kirti Chakra Award of 2015? 

 (A) Captain Jaidev   (B) Subedar Ajay Vardhan 

 (C) Major Vamshi Krishnan  (D) Subedar Bahadur Gurung 

 Ans - (C) Major Vamshi Krishnan 

 fPo;fhzg;gLgtw;wpy;> 2015 f;fhd “fph;j;jp rf;uh” tpUij ngwhjth; ahh;? 

 (A) Nfg;. n[a;Njt;   (B) RNg. m[a; th;jd; 

 (C) Nk. tk;\p fpU\;zd;  (D) RNg. g`J}h; FUq; 

 Ans - (C) Nk. Tk;\p fpU\;zd;  

10. Which of the following Articles have been in Part IV of the constitution through 42
nd

 Amendment? 

 (A) Art. 39 A, Art 43 A   (B) Clause (2) in Article 38 

 (C) Article 37 A, Article 43 A  (D) Article 31 C, Article 37 A 

 Ans - (C) Article 37 A, Article 43 A  

gpd;tUk; ve;j tpjpfs; murpayikg;gpd; gFjp IV-y; 42-Tj jpUj;j rl;lj;jpd; %yk; Nrh;f;fg;gl;lJ? 

 (A) tpjp. 39-A, kw;Wk; 43-A  (B) tpjp 38-y; cl;gphpT (2) 

 (C) tpjp 37-A, kw;Wk; 43-A  (D) tpjp 31 C, kw;Wk; 37 A 

 Ans - (C) tpjp 37-A, kw;Wk; 43-A  

11. Who has announced that the House of people would thereafter be known as “Loksabha” on 14 May 1954? 

 (A) G.V. Mavlankar   (B) Dr.S.Radhakrishnan 

 (C) Dr.Rajendra Prasad   (D) Dr.B.R.Ambedkar 

 Ans - (A) G.V. Mavlankar 

14 Nk khjk; 1954-k; Mz;L kf;fsit ,dpNky; “Nyhf;rgh” vd;W miof;fg;gLk; vd;W $wpath; 
ahh;? 

(A) [p.tp. kht;yq;fh;   (B) lhf;lh;. S.,uhjhfpU\;zd; 

(C) lhf;lh;.,uhN[e;jpu gpurhj;  (D) lhf;lh; B.R. mk;Ngj;fh; 
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 Ans - (A) [p.tp. kht;yq;fh;  

12. The words ‘Sathyameva Jayate’ in the National Emblem of India have been adopted from  

 (A) Maitreyi Upanishad   (B) Mundaka Upanishad 

 (C) Mudgala Upanishad   (D) Brahma Upanishad 

 Ans - (B) Mundaka Upanishad 

,e;jpa Njrpa rpd;dj;jpy; gad;gLj;jg;gl;Ls;s ‘rj;aNkt n[aNj’ vd;w nrhw;fs; vq;fpUe;J 
ngwg;gl;Ls;sd? 

 (A) ikj;Nuap cgepljk;   (B) Kz;lf cgepljk; 

 (C) Kj;fy cgepljk;    (D) gpuk cgepljk; 

 Ans - (B) Kz;lf cgepljk; 

13. The annual average rate of growth of population during 2001-11 in India is 

 (A) 1.31 %  (B) 1.93%  (C) 1.64%  (D) 2.1% 

 Ans - (C) 1.64%  

 ,e;jpahtpy; 2001-11 fhy fl;lj;jpy; kf;fs; njhif ruhrhp Mz;L tsh;r;rp tpfpjk; -------- 

 (A) 1.31 %  (B) 1.93%  (C) 1.64%  (D) 2.1% 

 Ans - (C) 1.64%  

14. Asvamedha yaga means 

 (A) Elephant Sacrifice   (B) Human Sacrifice 

 (C) Horse Sacrifice   (D) Lion Sacrifice 

 Ans - (C) Horse Sacrifice  

 m];tNkj ahfk; vd;gJ 

 (A) ahid gypapLjy;   (B) eugypapLjy; 

 (C) Fjpiuia gypapLjy;  (C) rpq;fj;ij gypapLjy; 

 Ans - (C) Fjpiuia gypapLjy; 

15. Polar zone Extends between 

 (A) 66 and 100    (B) 60 and 180 

 (C) 50 and 180    (D) 60 and 90 

 Ans - (D) 60 and 90 

 Jut kz;lyj;jpd; guty; 

 (A) 66 kw;Wk; 100    (B) 60 kw;Wk;180 

 (C) 50 kw;Wk; 180    (D) 60 kw;Wk; 90 
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 Ans - (D) 60 kw;Wk; 90 

16. Who named the crust, mantle and core as SIAL SIMA and NIFE respectively? 

 (A) Kepler   (B) Ptolemy 

 (C) Suess   (D) Columbus 

 Ans - (C) Suess  

 GtpNkNyhL> ftrk; kw;Wk; fUtk; KiwNa rpahy;> rpkh kw;Wk; ieg; vd ngahpl;lth; ahh;? 

(A) nfg;sh;  (B) jhykp  (C) #a];  (D) nfhyk;g]; 

Ans - (C) #a];  

17. Which of the following year was noted as one of the worst drought in the last hundred years? 

 (A) 2002  (B) 2004  (C) 2006  (D) 2010 

 Ans - (A) 2002  

 fle;j E}W Mz;Lfspy; kpfTk; Nkhrkhd twl;rp Mz;lhf Fwpg;gplg;gl;lJ vJ? 

 (A) 2002  (B) 2004  (C) 2006  (D) 2010 

 Ans - (A) 2002  

18. Which one of the following is not one of the Tri-ratna of Jainism? 

 (A) Right Faith    (B) Right knowledge 

 (C) Right action    (D) Right effort 

 Ans - (D) Right effort 

 rkz rkaj;jpd; %d;W uj;jpdq;fspy; cl;glhjJ vJ? 

 (A) ed;dk;gpf;if  (B) ey; mwpT 

 (C) ed;dlj;ij   (D) ey;y Kaw;rp 

 Ans - (D) ey;y Kaw;rp 

19. Kalinga war of Asoka and the propagation of Buddhism was mentioned in Asoka’s inscription in 

 (A) 6
th
 Rock Edict   (B) 13

th
 Rock Edict 

 (C) 8
th
 Rock Edict   (D) Bhabru Rock Edict 

 Ans - (B) 13
th
 Rock Edict 

mNrhfuJ fypq;fg;Nghh; gw;wpAk; mth; Gj;jkjj;ij gug;g Nkw;nfhz;l nray;fs; gw;wpAk; 
Fwpg;gpLk; fy;ntl;L 

 (A) 6tJ ghiwf; fy;ntl;L   (B)13 tJ ghiwf; fy;ntl;L 

 (C) 8 tJ ghiwf; fy;ntl;L   (D) ghGU ghiwf; fy;ntl;L 

 Ans - (B)13 tJ ghiwf; fy;ntl;L 
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20. Who established tattavabodhini sabha for philosophical and religious discussion and started tattavabodhini 

patrika propagate Brahmoism 

 (A) Ram Mohan Roy   (B) Raj Narayan Bose 

 (C) Debedranath Tagore   (D) Keshab Chandra Sen 

 Ans - (C) Debedranath Tagore  

jj;Jt Nghjpdp rigia epWtp> jdJ jj;Jt Nghjpdp gj;jphpfh %yk; gpuk;gaprj;jpd; rkak; 
kw;Wk; jj;Jthh;j;j epiyfis gug;gpath; 

 (A) uhk; Nkhfd; uha;   (B) uh[; ehuhad; Ngh]; 

 (C) NjNge;jpuehj; jh$h;  (D) Nfrg re;ju nrd; 

 Ans - (C) NjNge;jpuehj; jh$h; 

21. Which of the following are correctly matched ? 

 I. Hero of Vaikom   - E.V.Ramasamy 

 II. Self – Respect Movement  - T.M.Nair 

 III. Dravida Kazhagam   - Salem Conference 

 IV. South Indian Liberal Federation - Justice party 

 (A) I and II are correct   (B) III and IV are correct 

 (C) I and III are correct   (D) I, III and IV are correct 

 Ans - (D) I, III and IV are correct 

 fPo;tUtdtw;Ws; vit rhpahf nghUe;jpAs;sJ? 

I. itf;fk; tPuh;    - <.nt.uhkrhkp 
II. Rakhpahij ,af;fk;   - b.vk;. ehah; 
III. jpuhtpl fofk;    - Nryk; khehL 

IV. njd;dpe;jpa tpLjiy $l;likg;G - ePjpf;fl;rp 
(A) I kw;Wk; II rhp   (B) III kw;Wk; IV rhp 

(C) I kw;Wk; III rhp   (D) I, III kw;Wk; IV rhp 

Ans - (D) I, III kw;Wk; IV rhp 

22. Article 148 of the Indian Constitution says that 

 (A) The Comptroller and auditor General of India is to be appointed by the President of India 

 (B) The Comptroller and Auditor General of India is to be appointed by the Prime Minister of    India 

(C) The Comptroller and Auditor General of India is to be appointed by the Chief Election Commissioner 

of India. 

 (D) The comptroller and Auditor General of India is to be appointed by the Vice President of India 

 Ans - (A) The Comptroller and auditor General of India is to be appointed by the President of India 
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 ,e;jpa murpayikg;gpd; 148 tJ tpjp typAWj;JtJ. 

 (A) jiyik kw;Wk; jzpf;if mjpfhhp ,e;jpa [dhjpgjpahy; epakdk; nra;ag;gLtJ gw;wp 

 (B) jiyik kw;Wk; jzpf;if mjpfhhp ,e;jpa gpujkuhy; epakdk; nra;ag;gLtJ gw;wp 

 (C) jiyik kw;Wk; jzpf;if mjpfhhp ,e;jpa jiyik Njh;jy; Mizauhy; epakdk; C
 nra;agLtJ gw;wp 

(D) jiyik kw;Wk; jzpf;if mjpfhhp ,e;jpa Jiz-[dhjpgjpahy; epwkdk; nra;ag;gLtJ gw;wp 

Ans - (A) jiyik kw;Wk; jzpf;if mjpfhhp ,e;jpa [dhjpgjpahy; epakdk; nra;ag;gLtJ gw;wp 

23. The fourth proclamation of emergency under Article 352 was made in 

 (A) 1962 (B) 1965  (C) 1971  (D) 1975 

 Ans - (D) 1975 

 352 tJ tpjpapd; gb ehd;fhtJ mtru epiy gpufldk; te;j Mz;L 

 (A) 1962 (B) 1965  (C) 1971  (D) 1975 

 Ans - (D) 1975 

24. The protection of human rights act passed in  

 (A) 1992  (B) 1993  (C) 1994  (D) 1995 

 Ans - (B) 1993 

 kdpj chpik ghJfhg;Gr; rl;lk; epiwNtw;wg;gl;l Mz;L 

 (A) 1992 (B) 1993  (C) 1994  (D) 1995 

 Ans - (B) 1993 

25. Three new states Jharkhand, Uttaranchal and Chhatisgarh were created in the year 

 (A) 2000  (B) 2001  (C) 2002  (D) 2003 

 Ans - (A) 2000  

[hh;fz;l;> cj;juhQ;ry; kw;Wk; rl;B];fh; Mfpa %d;W Gjpa khepyq;fs; cUthf;fg;gl;l Mz;L 

 (A) 2000  (B) 2001  (C) 2002  (D) 2003 

 Ans - (A) 2000  

26. Article 243 D of the Indian Constitution deals with the 

 (A) Fixed tenure for panchayat bodies 

 (B) Reservation of seats for SC/ST and women in panchayats 

 (C) Powers to impose taxes 

 (D) Composition of the panchayat 

 Ans - (B) Reservation of seats for SC/ST and women in panchayats 
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 ,e;jpa murpaikg;gpd; 243 D tpjp typAWj;JtJ 

 (A) gQ;rhaj;J mikg;gpd; gjtp fhyk; eph;zak; 

 (B) gQ;rhaj;jpy; SC/ST tFg;gpdh; kw;Wk; ngz;fSf;fhd ,l xJf;fPl;L Kiw 

 (C) thp t#ypf;Fk; mjpfhuk; 

 (D) gQ;rhaj;jpd; mikg;G 

 Ans - (B) gQ;rhaj;jpy; SC/ST tFg;gpdh; kw;Wk; ngz;fSf;fhd ,l xJf;fPl;L Kiw 

 27. The right to Information Act, 2005 came into force on 

 (A) 11
th
 October 2005   (B) 12

th
 October 2005 

 (C) 13
th
 October 2005   (D) 14

th
 October 2005 

 Ans - (B) 12
th
 October 2005 

 2005 k; Mz;ila jfty; chpikr; rl;lk; eilKiwf;F te;jJ. 

 (A) 11 mf;Nlhgh; 2005   (B) 12 mf;Nlhgh; 2005 

 (C) 13 mf;Nlhgh; 2005   (D) 14 mf;Nlhgh; 2005 

 Ans - (B) 12 mf;Nlhgh; 2005 

28. The Administrative Vigilance Division was established in 

 (A) August 1955   (B) September 1955 

 (C) October 1955   (D) November 1955 

 Ans - (A) August 1955 

 eph;thf fz;fhzpg;G gphpT Vw;gLj;jg;gl;l Mz;L 

 (A) Mf];l; 1955   (B) nrg;lk;gh; 1955 

 (C) mf;Nlhgh; 1955   (D) etk;gh; 1955 

 Ans - (A) Mf];l; 1955 

29. Which one is not a factor influencing population? 

 (A) Birth rate   (B) Death rate 

 (C) Migration   (D) Poverty 

 Ans - (D) Poverty 

 gpd;tUgtDs; vJ kf;fs; njhifia jPh;khdpf;Fk; fhuzp my;y? 

 (A) gpwg;G tPjk;   (B) ,wg;G tPjk; 

 (C) ,lg;ngah;r;rp   (D) tWik 

 Ans - (D) tWik 

30. When was the scheme Prathan Mantri Jeevan Jyothi Bima Yojana was started? 
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 (A) July 9, 2014   (B) June 6, 2014 

 (C) May 9, 2015   (D) Aug 2, 2015 

 Ans - (C) May 9, 2015 

  gpujhd; ke;jph [Ptd; N[hjp gPkh Nah[dh vd;w jpl;lk; vg;NghJ Jtq;fg;gl;lJ? 

(A) [_iy 9> 2014   (B) [Pd; 6> 2014 

(C) Nk 9> 2015    (D) Mf];l; 2> 2015 

 Ans - (C) Nk 9> 2015  

31.  The term “HRIDAY” relates to 

 (A) Urban development   (B) Farmer development 

 (C) Educational development  (D) Poverty Eradication 

 Ans - (A) Urban development  

 “HRIDAY” vd;w nrhy; vijf; Fwpf;fpwJ? 

 (A) efu Nkk;ghL  (B) tptrhap Nkk;ghL 

 (C) fy;tp Nkk;ghL  (D) tWik xopg;G 

 Ans - (A) efu Nkk;ghL 

32. Which energies are supposed to be free and command no price? 

 (A) Commercial energy    (B) Non-Commercial energy 

 (C) Both (A) + (B)    (D) Coal, and lignite 

 Ans - (B) Non-Commercial energy 

 ,tw;wpy; ve;j vhprf;jp ,ytrkhdJ kw;Wk; tpiy Mjpf;fk; ,y;yhjJ vd;W  

     fUjg;gLfpwJ? 

(A) tzpa vhprf;jp   (B) tzpfky;yhj vhprf;jp 

(C) (A) + (B) ,uz;Lk;   (D) epyf;fhp kw;Wk; gOg;G epyf;fhp 

 Ans - (B) tzpfky;yhj vhprf;jp 

33. The Vernacular Press act was passed by ------------ during the year ----------------- 

 (A) Lord Northbrooke  - 1873 

 (B) Lord Elgin  - 1876 

 (C) Lord Mayo  - 1877 

 (D)  Lord Lytton  - 1878 

 Ans - (D)  Lord Lytton  - 1878 

 jha;nkhop gj;jphpifr; rl;lj;ij ------------ Mk; Mz;L nfhz;L te;jth; --------------- 
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 (A) ehh;j;G&f; gpuG  - 1873 

 (B) vy;[pd; gpuG  - 1876 

 (C) NkNah gpuG  - 1877 

 (D)  ypl;ld; gpuG  - 1878 

 Ans - (D)  ypl;ld; gpuG  - 1878 

34. Who was the last Mughal Emperor of India? 

 (A) Alamgir – II   (B) Bahadursha – II 

 (C) Shah Alam – II   (D) Jahander Shah 

 Ans - (B) Bahadursha – II 

 ,e;jpahtpy; nkhfyhag; Nguurpd; filrp murh; ahh;? 

 (A) ,uz;lhk; Myk;fPh;   (B) ,uz;lhk; gfJ}h; \h 

 (C) ,uz;lhk; \hMyk;  (D) n[fe;jh; \h 

 Ans - (B) ,uz;lhk; gfJ}h; \h 

35. Mahatma Gandhi was murdered on  

 (A) 30
th
 January 1949   (B) 20

th
 January 1948 

 (C) 30
th
 January 1948   (D) 30

th
 August 1948 

 Ans - (C) 30
th
 January 1948  

 kfhj;kh fhe;jp nfhy;yg;gl;l ehs; 

(A) [dthp 30> 1949   (B) [dthp 20, 1948 

(C) [dthp 30> 1948   (D) Mf];l; 30> 1948 

 Ans - (C) [dthp 30> 1948 

36. Direct Action Day was observed by the Muslim League on 

 (A) 15
th
 August 1945   (B) 26

th
 August 1946 

 (C) 16
th
 August 1946   (D) 16

th
 September 1946 

 Ans - (C) 16
th
 August 1946 

 K];yPk; yPf; Neub eltbf;if jpdj;ij fil gpbj;j ehs; 

 (A) Mf];l; 15> 1945  (B) Mf];l; 26> 1946 

 (C) Mf];l; 16> 1946  (D) nrg;lk;gh; 16> 1946  

 Ans - (C) Mf];l; 16> 1946 

37. In a group of cows and hens, the number of legs are 14 more than twice the number of heads. The number 

of cows is 
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 (A) 5   (B) 7   (C) 10   (D) 12 

 Ans - (B) 7  

xNu ,lj;jpy; $l;lkhf cs;s gR kw;Wk; NfhopfSila ,uz;L klq;F jiyfspd; 
vz;zpf;ifia tpl mtw;wpd; fhy;fspd; vz;zpf;if 14 mjpfkhf cs;sJ vdpy; nkhj;jk; 
vj;jid gR cs;sJ? 

 (A) 5   (B) 7   (C) 10   (D) 12 

 Ans - (B) 7  

38. The sum of the two numbers is 40 and their difference is 4. The ratio of the numbers is  

 (A) 11:9  (B) 10: 7  (C) 20:12  (D) 11:12 

 Ans - (A) 11:9 

 ,U vz;fspd; $Ljy; 40> mtw;wpd; NtWghL 4 vdpy;> mt;ntz;fspd; tpfpjk; 

 (A) 11:9  (B) 10: 7  (C) 20:12  (D) 11:12 

 Ans - (A) 11:90 

39. Ram starts from a point A and walks 6 km North, then turns left and walks 8 km, then turns left and walks 

12 km upto the point B. what is the direction of Ram? 

 (A) North  (B) South  (C) East  (D) West 

 Ans - (B) South 

A vd;w Gs;spapy; ,Ue;J uhk; tlf;Fg;gf;fkhf 6 fp.kP ele;J gpd; ,lJ gf;fkhf jpUk;gp 8 fp.kP 
ele;J gpd; kPz;Lk; ,lJ gf;fkhf jpUk;gp 12 fp.kP ele;J B vd;w Gs;spia te;J mile;jhy; 
mtd; epw;Fk; jpir vd;d? 

 (A) tlf;F  (B) njw;F  (C) fpof;F  (D) Nkw;F 

 Ans - (B) njw;F 

40. 20 ½ + 30 1/3 – 15 1/6 = ? 

 (A) 35 2/3  (B) 17 ¼  (C) 18 2/3  (D) 20 ¼ 

 Ans - (A) 35 2/3 

20 ½ + 30 1/3 – 15 1/6 = ? 

 (A) 35 2/3  (B) 17 ¼  (C) 18 2/3  (D) 20 ¼ 

 Ans - (A) 35 2/3 

41. 1/1 . 2 .3  + 1/2.3.4 + 1 /3.4.5 + 1/4.5.6 is equal to 

 (A) 15/31  (B) 7/30  (C) 16/21  (D) 21/27 

 Ans - (B) 7/30 

1/1 . 2 .3  + ½.3.4 + 1 /3.4.5 + ¼.5.6 is equal to 

 (A) 15/31  (B) 7/30  (C) 16/21  (D) 21/27 
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 Ans - (B) 7/30 

42. In a bag there are coins of 25 p, 10 p and 5 p in the ratio of 1:2:3. If there are Rs.30 in all then the number 

of 5 p coins are 

 (A) 200   (B) 30  (C) 150  (D) 250 

 Ans - (C) 150 

xU igapy; 25 igrh> 10 igrh> 5 igrh fhRfs; cs;sd. mtw;wpd; tpfpjkhdJ KiwNa 1:2:3. 
igapy; cs;s nkhj;j fhRfspd; kjpg;G &.30 vdpy; igapy; cs;s 5 igrh fhRfspd; 
vz;zpf;if 

 (A) 200   (B) 30  (C) 150  (D) 250 

 Ans - (C) 150 

43. If a:b = 5 : 9 and b : c = 4 find a : b: c 

  (A) 20:36:63  (B) 15:25:60  (C) 10:18:45  (D) 6:18:54 

 Ans - (A) 20:36:63 

a : b = 5 : 9 kw;Wk; b : c = 4 vdpy; a : b: c vd;gJ 

 (A) 20:36:63  (B) 15:25:60  (C) 10:18:45  (D) 6:18:54 

 Ans - (A) 20:36:63 

44. Find the wrong number in the series : 

 2, 9, 28, 65, 126, 216, 344. 

(A) 2  (B) 28  (C) 65  (D) 216 

Ans - (D) 216 

 gpd;tUk; njhlhpy; jtwhd vz;iz Njh;T nra;f. 

2, 9, 28, 65, 126, 216, 344. 

(A) 2  (B) 28  (C) 65  (D) 216 

Ans - (D) 216 

45. If the side of an equilateral triangle is decreased by 20% its area is decreased by 

  (A) 42%  (D) 216 

  (C) 34%  (D) 20% 

  Ans - (D) 216 

xU rkgf;f Kf;Nfhzj;jpd; xU gf;fk; 20% Fiwf;fgl;lhy; mk;Kf;Nfhzj;jpd; gug;gstpy; Vw;gLk; 
FiwT 

 (A) 42%  (B) 36%  (C) 34%  (D) 20% 

 Ans - (D) 216 
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46. The area of a circle is 220  cm
2
, then the area of the square inscribed in the circle is 

 (A) 120 cm
2 

  (B) 140 cm
2
    (C) 135 cm

2
  (D) 250 cm

2
  

 Ans - (B) 140 cm
2
 

 xU tl;lj;jpd; gug;gsT 220 r.nr.kP vdpy; mt;tl;j;jpw;Fs; mikAk; rJuj;jpd; gug;gsT  

 (A) 120
 ; r.nr.kP  (B) 140 r.nr.kP   (C) 135 r.nr.kP  (D) 250 r.nr.kP  

 Ans - (B) 140 r.nr.kP 

47. Pulse polio Immunization programme was launched in India in 

 (A) 1995  (B) 2001  (C) 2003  (D) 1983 

 Ans - (A) 1995 

 gy;]; NghypNah nrhl;L kUe;J jpl;lk; ,e;jpahtpy; njhlq;fg;gl;l Mz;L 

 (A) 1995  (B) 2001  (C) 2003  (D) 1983 

 Ans - (A) 1995 

48. The least common multiple of 24, 36 and 40 is 

 (A) 340   (B) 360   (C) 230   (D) 400 

 Ans - (B) 360  

 24, 36, 40 vd;w vz;fspd; kPr;rpW nghJ klq;fhdJ 

 (A) 340   (B) 360   (C) 230   (D) 400 

 Ans - (B) 360  

49. Three numbers are in the ration 1:2:3 and their H.C.F is 12. The numbers are 

 (A) 4, 8, 12  (B) 5, 10, 15  (C) 10,20,30  (D) 12, 24, 36 

 Ans - (D) 12, 24, 36 

 %d;W vz;fspd; tpfpjk; 1:2:3 kw;Wk; mtw;wpd; kP.ng.t 12> vdpy; me;j vz;fs; KiwNa  

 (A) 4, 8, 12  (B) 5, 10, 15  (C) 10,20,30  (D) 12, 24, 36 

 Ans - (D) 12, 24, 36 

50.  Montreal protocol is related with 

 (A) Conservation of biodiversity  (B) Protection of ozone layer 

 (C) Conservation of wildlife  (D) Disaster Management 

 Ans - (B) Protection of ozone layer 

 khd;l;hpay; cld;gbf;if %y tiuT -------------- cld; njhlh;GilaJ. 

 (A) capy;gy;tifik ghJfhj;jhy;  (B) XNrhd; mLf;F ghJfhj;jy; 

 (C) tdtpyq;F ghJfhj;jy;   (D) Nghplh; Nkyhz;ik 
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 Ans - (B) XNrhd; mLf;F ghJfhj;jy; 

51. --------------- is a collection of wires that facilitates data transmission from one computer to another. 

 (A) Bandwidth  (B) Channel  (C) BUS  (D) Router 

 Ans - (C) BUS 

------------ vd;gJ juT gug;Gjiy xU fzpdpapypUe;J> kw;nwhU fzpdpf;F mDg;Gk; fk;gpfspd; 
njhFg;G. 

 (A) miyf;fw;iw  (B) jlk;  (C) ghl;il  (D) jpirtp 

 Ans - (C) ghl;il  

52. ----------- refers to maintaining the accuracy of data through its entire life cycle. 

 (A) Data security   (B) Robustness 

 (C) Data integrity   (D) Data capture 

 Ans - (C) Data integrity 

 xU jutpd; Row;rp KOtJk; mjd; Jy;ypaj;ij epiyepWj;Jtij Fwpg;gJ ---------- MFk;. 

 (A) juT ghJfhg;G   (B) jd;Kidg;G 

 (C) juT xUikg;ghL   (D) juT gpbg;G 

 Ans - (C) juT xUikg;ghL 

53. The Young’s modulus of Carbon Nanotubes (CNT) rages from 

 (A) 1.68 to 2 Tpa   (B) 1.28 to 1.8 Tpa 

 (C) 0.168 to 0.2 Tpa   (D) 0.128 to 0.18 Tpa 

 Ans - (B) 1.28 to 1.8 Tpa 

 fhh;gd; Nedh Ba+g;gpd; (CNT) aq; Fzfj;jpd; kjpg;G -------------- MFk;. 

 (A) 1.68 to 2 Tpa   (B) 1.28 to 1.8 Tpa 

 (C) 0.168 to 0.2 Tpa   (D) 0.128 to 0.18 Tpa 

 Ans - (B) 1.28 to 1.8 Tpa 

54. The telescope used for the research of supernovae is 

 (A) Hubble space telescope  (B) Chandrasekar space telescope 

 (C) Hertzberg space telescop  (D) Russel space telescope 

 Ans - (A) Hubble space telescope 

kPs; njhiytpYs;s Ngnuhsph; Kfpy; gw;wpa Ma;TfSf;Fg; gad;gLk; njhiyNehf;fpapd; ngah; 

(A) `g;Gs; thd; njhiyNehf;fp  (B) re;jpuNrfh; thd; njhiyNehf;fp 

(C) n`h;l;];gh;f; thd; njhiyNehf;fp  (D) u];]y; thd; njhiyNehf;fp 
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 Ans - (A) `g;Gs; thd; njhiyNehf;fp  

55. The ratio of the intensity of magnetization to the applied magnetic field strength is known as magnetic 

(A) Susceptibility (B) Co-erivity  (C) Retentivity  (D) Permeability 

 Ans - (A) Susceptibility 

fhe;jth;f;fr; nrwptpw;Fk;> nrYj;jg;gl;l fhe;jg;Gyr; nrwptpw;Fk; ,ilg;gl;l tpfpjk; vt;thW 
miof;fg;gLk;? 

(A) Vw;Gj;jpwd;  (B) ePf;fk; (C) epidT  (D) cl;GFjpwd; 

 Ans - (A) Vw;Gj;jpwd;  

56. The Ore, (CaCo3.MgCO3) is known as 

 (A) Magnesite  (B) Siderite  (C) Dolomite  (D) Calamine 

 Ans - (C) Dolomite  

 (CaCo3.MgCO3) vd;w jhJ fPNo cs;stw;wpy; ve;j ngauhy; mwpag;gLfpd;wJ? 

 (A) Nkf;dirl;  (B) rpliul;  (C) Nlhyikl;  (D) fhyikd; 

 Ans - (C) Nlhyikl;  

57.  Which of the following is used as an ingredient of cockroach repellant? 

 (A) Acetic acid  (B) Boric acid  (C) Oxalic Acid  (D) Benzoic acid 

 Ans - (B) Boric acid  

 fug;ghd; g+r;rp tpul;bapy; $l;Lg; nghUshf gad;gLk; mkpyk; 

 (A) mrpl;bf; mkpyk;  (B) Nghhpf; mkpyk;   

 (C) Mf;]hypf; mkpyk;  (D) ngd;Nrhapf; mkpyk; 

 Ans - (B) Nghhpf; mkpyk;  

58. Who introduced the binomial system for naming the plants? 

 (A) Adolf Engler  (B) Carolus Linnaeus   

 (C) Dalton Hooker  (D) George Bentham 

 Ans - (B) Carolus Linnaeus  

 jhtuq;fSf;F ,U nrhw;ngahpL Kiwia mwpKfg;gLj;jpath; ahh;? 

(A) Mlhy;/g; vq;sh   (B) fNuhy]; ypNda]; 

(C) lhy;ld; `{f;fh;   (D) [hh;[; nge;jk; 

(B)  Ans - (B) fNuhy]; ypNda]; 

59. Match the following : 

 (a) Thymosin  1. Control BMR 
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 (b) Calcitonin  2. Muscle elasticity 

 (c) Thyroxine  3. Maturation of T-Cell 

 (d) Relaxin   4. Regulation of minerals 

  (a) (b) (c) (d) 

 (A) 4 1 2 3 

 (B) 3 4 1 2 

 (C) 4 2 1 3 

 (D) 2 3 4 1 

 Ans - (B) 3 4 1 2 

 fPo;fz;ltw;iw nghUj;Jf : 

(a) ijNkh]pd;   1. BMR fl;LghL 

(b) fhy;rpNlhdpd;  2. jir tpyfy; 

(c) ijuhf;]pd;   3. T-nry; tsh;r;rp 

(d) hpyhf;]pd;   4. jhJf;fs; tiuaiwg;gLj;Jjy; 

  (a) (b) (c) (d) 

 (A) 4 1 2 3 

(B) 3 4 1 2 

(C) 4 2 1 3 

 (D) 2 3 4 1 

Ans - (B) 3 4 1 2 

60. Diastole and Systole are generally of equal duration, each lasting about 

 (A) 0.2 sec  (B) 0.4 sec  (C) 0.5 sec  (D) 0.6 sec 

 Ans - (B) 0.4 sec 

ila];NlhYk;> ]p];NlhYk; nghJthf xNu rkfhy mstpy; eilngWfpd;wJ. ,tw;Ws; 
xt;nthd;wpd; fhykhdJ 

(A) 0.2 nehb  (B) 0.4 nehb  (C) 0.5 nehb  (D) 0.6 nehb 

 Ans - (B) 0.4 nehb  

61. Krishnadevaraya belong to which dynasty 

 (A) Sangama dynasty    (B) Aravidu dynasty 

 (C) Tuluva dynasty    (D) Saluva dynasty 

 Ans - (C) Tuluva dynasty  
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 fpU\;zNjtuhah; ve;j tk;rj;ij Nrh;e;jth; 

(A) rq;fk tk;rk;   (B) mutPL tk;rk; 

(C) JSt tk;rk;   (D) rSt tk;rk; 

 Ans - (C) JSt tk;rk; 

62. What is AYSUSH? 

 (A) It is a cultural organization  (B) It is a unit of Indian Defence system 

 (C) It is a unit of ISRO   (D) It is a Health care service scheme in our country 

 Ans - (D) It is a Health care service scheme in our country 

 AYUSH vd;why; vd;d? 

(A) ,J xU fyhr;rhu epWtdk;   

(B) ,J ,e;jpa uhZtj;jpy; Xu gphpT 

(C) ,J ,e;jpa tpz;ntsp Muha;r;rp epWtdj;jpd; (ISRO) Xu gphpT 

(D) ,J xU cly; eyk; NgZk; ek; ehl;bd; xU jpl;lkhFk; 

Ans - (D) ,J xU cly; eyk; NgZk; ek; ehl;bd; xU jpl;lkhFk; 

63. Which of the following one recommended that the size of the Panchayat unit should be 1500 to 2000 heads 

of population? 

 (A) Balwant Rai Mehta Committee 1957   

(B) Congress Village Panchayat Committee 1954 

(C) Ashok Metha Committee 

(D) National Development Council 

Ans - (C) Ashok Metha Committee 

gpd;tUtdtw;Ws; ve;j xd;W gQ;rhaj;J myfpw;fhd kf;fs; njhif msT 1500-y; ,Ue;J 2000-
f;Fs; ,Uf;f Ntz;Lk; vd;W ghpe;Jiuj;jJ. 

(A) gy;te;j; uha; Nkj;jh FO 1957  

(B) fhq;fpu]; fpuhk gQ;rhaj;J FO 1954 

(C) mNrhf; Nkj;jh FO 

(D) Njrpa tsh;r;rp kd;w FO 

Ans - (C) mNrhf; Nkj;jh FO 

64. The country with which Pakistan has signed a 1.7 billion deal to lay gas pipeline from Karachi to Lahore 

 (A) Srilanka  (B) China  (C) Russia   (D) India 

 Ans - (C) Russia 
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ghfp];jhd;> fuhr;rpapypUe;J yh$h; tiuapyhd vhptha; Fohia mikf;Fk; 1.7 gpy;ypad;Df;fhd 
xg;ge;jk; nra;J nfhz;l ehL vJ? 

(A) ,yq;if  (B) rPdh  (C) u\;ah  (D) ,e;jpah 

Ans - (C) u\;ah 

65. Recently, the Central Government decided to implement GST in India. GST stands for What? 

 (A) Goods and Services Tax   (B) General Sales Tax 

 (C) General Services Tax   (D) Goods Sales Tax 

 Ans - (A) Goods and Services Tax  

kj;jpa muR mz;ikapy;> GST-ia ,e;jpahtpy; eilKiwg;gLj;j KbntLj;Js;sJ? GST vd;gjd; 
tphpthf;fk; vd;d? 

 (A) gz;lq;fs; kw;Wk; Nritfs; thp  (B) nghJ tpw;gidfs; thp 

 (C) nghJ Nritfs; thp   (D) gz;lq;fs; tpw;gidfs; thp 

 Ans - (A) gz;lq;fs; kw;Wk; Nritfs; thp  

66. Under whose chairmanship the Reserve Bank of India recently constituted a High powered committee to 

study the urban cooperative banks? 

 (A) C.Rangarajan  (B) Yashwant Sinha   

(C) Rahuram Rajan  (D) R.Gandhi 

 Ans - (D) R.Gandhi 

mz;ikapy; hprh;t; tq;fp ahUila jiyikapd; fPo; efh;g;Gw $l;LwT tq;fpfis Muha xU 
cah;kl;lf; FOit mkh;j;jpaJ? 

(A) C.uq;fuh[d;   (B) a\;te;j; rpd;;fh 

(C) uFuhk; uh[d;   (D) R. fhe;jp 

 Ans - (D) R. fhe;jp 

67. Zilla parishads are responsible for development and maintenance of the  

 (A) International Highways  (B) National Highways 

 (C) State Highways   (D) District Roadways 

 Ans - (D) District Roadways 

 [py;yh ghprj; vd;gJ ,jd; tsh;r;rp kw;Wk; guhkhpg;gpw;F nghWg;ghFk; 

 (A) rh;tNjr neLQ;rhiyfs;   (B) Njrpa neLQ;rhiyfs; 

 (C) khepy neLQ;rhiyfs;   (D) khtl;l rhiyfs; 

 Ans - (D) khtl;l rhiyfs; 

68. Match the following : 
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 List I (Atomic power station)   List I (Places) 

 (a) Kota     1. Uttarpradesh 

 (b) Kalpakkam     2. Maharashtra 

 (c) Bhaba     3. Rajasthan 

 (d) Narora     4. Tamilnadu 

  (a) (b) (c) (d) 

 (A) 3 4 1 2 

 (B) 1 4 2 3 

 (C) 2 4 1 3 

 (D)  3 4 2 1 

 Ans - (D)  3 4 2 1 

 nghUj;Jf : 

  gl;bay; I   gl;bay; II 

 mZrf;jp epiyaq;fs;   ,lq;fs; 

 (a) Nfhl;lh    1. cj;jpugpuNjrk; 

 (b) fy;ghf;fk;    2. k`huh\;luh 

 (c) ghgh    3. uh[];jhd; 

 (d) eNuhuh    4. jkpo;ehL 

  (a) (b) (c) (d) 

 (A) 3 4 1 2 

 (B) 1 4 2 3 

 (C) 2 4 1 3 

 (D)  3 4 2 1 

 Ans - (D)  3 4 2 1 

69. Match the list I and list II 

  List I    List II 

(a) Imad Shahi dynasty   1. Bijapur 

(b) Barid Shahi dynasty   2. Ahmadnagar 

(c) Nizam Shahi dynasty  3. Bidar 

(d) Adil Shahi dynasty   4. Berar 

  (a) (b) (c) (d) 
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(A) 4 2 3 1  

(B) 2 3 4 1 

(C) 4 3 2 1 

(D) 3 2 4 1 

Ans - (C) 4 3 2 1 

thpir I cld; thpir II I nghUj;Jf : 

 gl;bay; I    gl;bay; II 

(a) ,khj; \h`p tk;rk;   1. gPN[G+H; 

(b) ghpj; \h`p tk;rk;    2. mfkJ efh; 

(c) ep\hk; \h`p tk;rk;   3. gPlhh; 

(d) mby; \h`p tk;rk;   4. gPuhh; 

  (a) (b) (c) (d) 

(A) 4 2 3 1  

(B) 2 3 4 1 

(C) 4 3 2 1 

(D) 3 2 4 1 

Ans - (C) 4 3 2 1 

70. The European country that was the first to establish trade relations with India in modern times was 

 (A) Portugal  (B) France  (C) England  (D) Denmark 

 Ans - (A) Portugal  

 etPd fhyj;jpy; ,e;jpahTld; tpahghuj; njhlh;G nfhz;l Kjy; INuhg;gpa ehL 

 (A) Nghh;r;Rfy;  (B) gpuhd;];  (C) ,q;fpyhe;J  (D) nld;khh;f; 

 Ans - (A) Nghh;r;Rfy;  

71. In 1935, the first dance function of Mrs. Rukmani Arundel took place at 

 (A) The brahmo samaj meeting   (B) The ramakrshna mission meeting 

 (C) Theosophical society meeting  (D) Prarthana samaj meeting 

 Ans - (C) Theosophical society meeting 

 1935 y; jpUkjp. Uf;kzp mUzz;Nlypd; Kjy; ehl;ba epfo;r;rp eilngw;w ,lk; 

(A) gpuk;k rkh[ $l;lk;   (B) ,uhkfpU\;z kp\d; $l;lk; 

(C) gpuk;k Qhd rigf; $l;lk;   (D) gpuhh;j;jd rkh[f; $l;lk; 
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 Ans - (C) gpuk;k Qhd rigf; $l;lk;  

72. Swami Vivekananda was born in the year 

 (A) 1853  (B) 1865  (C) 1863  (D) 1873 

 Ans - (C) 1863 

 Rthkp tpNtfhde;jh; gpwe;j Mz;L? 

 (A) 1853  (B) 1865  (C) 1863  (D) 1873 

 Ans - (C) 1863 

73. According to the recommendation of Balwant rai committee who should act as the Chairman of the zila 

parishad 

 (A) MLA  (B) MP  (C) Village President  (D) District Collector 

 Ans - (D) District Collector 

gy;te;j;uha; Nkj;jh FOtpd; ghpe;Jiufspd; gb \py;yh ghprj;jpd; jiytuhf nray;gl 
Ntz;bath; 

(A) vk;.vy;.V     (B) vk;.gp   

(C) gQ;rhapj;J jiyth;   (D) khtl;l Ml;rpj;jiyth; 

Ans - (D) khtl;l Ml;rpj;jiyth; 

74. Mizoram became a full fledged state in 

 (A) 1956  (B) 1971  (C) 1987  (D) 1988 

 Ans - (C) 1987 

 kpNrhuk; xU KO khepykhf me;j];J ngw;w Mz;L 

 (A) 1956  (B) 1971  (C) 1987  (D) 1988 

 Ans - (C) 1987 

75. Match the following – choose the correct one : 

 (a) 7
th
 Amendment 1. Increasing the age of retirement of high court judges from 60 to 62 

 (b) 12
th
 Amendment 2. Including Pondicherry as a union territory 

 (c) 14
th
 Amendment 3. Reorganisation of states 

 (d) 15
th
 Amendment 4. Including Goa as a union territory 

  (a) (b) (c) (d) 

 (A) 3 4 2 1 

 (B) 1 2 3 4 

 (C) 4 3 2 1 
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 (D) 2 3 1 4 

 Ans - (A) 3 4 2 1 

 gpd;tUtdtw;iw nghUj;jp rhpahdtw;iw Njh;e;njL : 

 (a) 7 tJ m.m. jpUj;jk; 1. cah;ePjpkd;w ePjpgjpfspd; Xa;T ngWk; taij 60 ypUe;J  

62 Mf cah;j;jpaJ 

 (b) 12 tJ m.m. jpUj;jk; 2. ghz;br;Nrhp A+dpad; gpuNjrkhf Nrh;f;fg;gl;lJ. 

 (c) 14 tJ m.m. jpUj;jk; 3. khepyq;fs; kWrPuikg;G 

 (d) 15 tJ m.m. jpUj;jk; 4. Nfhth A+dpad; gpuNjrkhf Nrh;f;fg;gl;lJ. 

  (a) (b) (c) (d) 

 (A) 3 4 2 1 

 (B) 1 2 3 4 

 (C) 4 3 2 1 

 (D) 2 3 1 4 

 Ans - (A) 3 4 2 1 

76. Who was the Prime Minister Introduced the Lokpal Bill seventh time in the Parliament? 

 (A) Chandrasekaran   (B) Deva Gowda 

 (C) A.B.Vajpayee   (D) Dr.Manmohan Singh 

 Ans - (C) A.B.Vajpayee 

Nyhf;ghy; kNrhjhit ghuhSkd;wj;jpy; VohtJ Kiwahf mwpKfg;gLj;jpa ,e;jpa gpujkh; ahh;? 

(A) re;jpuNrfud;   (B) Njtnfslh 

(C) V.gp.th[;gha;   (D) lhf;lh;. kd;Nkhfd; rpq; 

 Ans - (C) V.gp.th[;gha; 

77. Which one of the following Article deals with the Hindi as official language 

 (A) Article 356  (B) Article 370  (C) Article 360  (D) Article 343 

 Ans - (D) Article 343 

 gpd;tUk; ve;j tpjp `pe;jpia mYty; nkhopahf mq;fPfhpf;fpd;wJ. 

 (A) tpjp 356  (B) tpjp 370  (C) tpjp 360  (D) tpjp 343 

 Ans - (D) tpjp 343 

78.  The term “MIGA” refers to 

 (A) The Multinational Investment Guarantee Agency 

 (B) The Multi Indian Government Agency 
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 (C) Migration of Government Agency 

 (D) Member In General Association 

 Ans - (A) The Multinational Investment Guarantee Agency 

 “MIGA” vd;w nrhy; vjw;F nghUe;Jk; 

 (A) gd;ehl;L KjyPl;L cWjpj; jpl;l Kfik 

 (B) ,e;jpa gd;Kf muR Kfik 

 (C) murpd; ,lg;ngah;T Kfik 

 (D) nghJ fofj;jpd; cWg;gpdh; 

 Ans - (A) gd;ehl;L KjyPl;L cWjpj; jpl;l Kfik 

79. Who of the following is the final authority to approve the five year plans? 

 (A) The Parliament  (B) The Planning Commission 

 (C) The Finance Commission (D) National Development Council 

 Ans - (D) National Development Council 

 gpd;tUgtDs; ahh; Ie;jhz;L jpl;lq;fis ,Wjpahf mq;fPfhpf;f KbAk;? 

(A) ghuhSkd;wk;    (B) jpl;lf;FO   

(C) epjpf;FO     (D) Njrpa tsh;r;rp FO  

Ans - (D) Njrpa tsh;r;rp FO  

80. When was the National Development Council was set up? 

 (A) 3
rd
 March 1951   (B) 2

nd
 June 1952 

 (C) 6
th
 Aug 1952   (D) 5

th
 Dec 1953 

 Ans - (C) 6
th
 Aug 1952 

 Njrpa tsh;r;rp FOkk; vg;nghOJ Muk;gpf;fg;l;lJ? 

 (A) 3 khh;r; 1951   (B) 2 [Pd; 1952 

 (C) 6
th
 Mf];l; 1952   (D) 5

 brk;gh; 1953 

 Ans - (C) 6
th
 Mf];l; 1952 

81. Which of them is caused as social overheads? 

 (A) Health hygiene and education  (B) Science and technology and education 

 (C) Science and technology and communication (D) Education, transport and banking 

 Ans - (A) Health hygiene and education 

 ,tw;wpy; vij r%f mtrpakhditfs; vd miog;gh; 

(A) MNuhf;fpak;> Rfhjhuk; kw;Wk; fy;tp 
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(B) mwptpay; kw;Wk; njhopy;El;gk; kw;Wk; fy;tp 
(C) mwptpay; kw;Wk; njhopy; El;gk; kw;Wk; jfty; njhopy;El;gk; 
(D) fy;tp> Nghf;Ftuj;J kw;Wk; tq;fpapay; 

Ans - (A) MNuhf;fpak;> Rfhjhuk; kw;Wk; fy;tp 

82. Which Charter Act gave Rupees one lakh every year for the development education in India? 

 (A) Charter Act – 1833    (B) Charter Act – 1813 

 (C) Charter Act – 1793    (D) Charter Act – 1853 

 Ans - (B) Charter Act – 1813 

ve;j gl;lar; rl;lk; ,e;jpahtpy; fy;tp Nkk;ghl;bw;fhf xt;nthU Mz;Lk; &gha; xU ,yl;rk; 
xJf;f toptFj;jJ? 

 (A) gl;lar;rl;lk; – 1833    (B) gl;lar;rl;lk;– 1813 

 (C) gl;lar;rl;lk; – 1793    (D) gl;lar;rl;lk;– 1853 

 Ans - (B) gl;lar;rl;lk;– 1813 

83. Match the following : 

 (a) Nana Saheb   1. Bihar 

 (b) Begum Hazrat Mahal 2. Barrakpore 

 (c) Kunwar Singh  3. Kanpur 

 (d) Mangal pandey  4. Lucknow 

  (a) (b) (c) (d) 

 (A)  3 4 2 1 

 (B) 4 3 2 1 

 (C) 3 1 4 2 

 (D) 3 4 1 2 

 Ans - (D) 3 4 1 2 

 fPo;f;fz;ltw;iw nghUj;Jf : 

 (a) ehdh rhfpg;   1. gPfhh; 

 (b) Ngfk; `];uj; kfhy; 2. guhf;G+h; 

 (c) Fd;th; rpq;   3. fhd;G+h; 

 (d) kq;fs; ghz;Nl  4. yf;Ndh 

  (a) (b) (c) (d) 

 (A)  3 4 2 1 

 (B) 4 3 2 1 
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 (C) 3 1 4 2 

 (D) 3 4 1 2 

 Ans - (D) 3 4 1 2 

84. If x * y = x
2
 + y

2
 – xy then the value of 9 * 11 is 

 (A) 103  (B) 112  (C) 127  (D) 200 

 Ans - (A) 103 

x * y = x
2
 + y

2
 – xy vdpy; of 9 * 11 -d; kjpg;G 

(A) 103  (B) 112  (C) 127  (D) 200 

 Ans - (A) 103 

85. The average of the non zero number and its square is five times the number, then the number is 

 (A) 9  (B) 10  (C) 7  (D) 6 

 Ans - (A) 9  

xU G+[;[paky;yh vz;Zk; mjd; th;f;fj;jpd; ruhrhp me;j vz;zpd; Ie;J klq;fpw;F rkk; vdpy; 
me;j vz; 

 (A) 9  (B) 10  (C) 7  (D) 6 

 Ans - (A) 9  

86. Find the wrong number in the series : 

 10, 14, 28, 32, 64, 68, 132 

(A) 32  (B) 132  (C) 14  (D) 10 

Ans - (B) 132 

gpd;tUk; njhlhpy; jtwhd vz; Njh;T nra;f : 

 10, 14, 28, 32, 64, 68, 132 

(A) 32  (B) 132  (C) 14  (D) 10 

Ans - (B) 132 

87. 3/ 7 of 497 / 249 of ? = 639 

 (A) 474   (B) 774   (C) 477   (D) 747 

 Ans - (D) 747 

 xU vz;zpd; 497 / 249  klq;fpy; 3/ 7 klq;F 639 vdpy; mt;ntz;? 

 (A) 474   (B) 774   (C) 477   (D) 747 

 Ans - (D) 747 
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88. If length and breadth of a rectangle became half and double respectively, then what will be the % increase 

in resultant are? 

 (A) 0%   (B) 55%  (C) 75%  (D) 80% 

 Ans - (A) 0%  

xU nrt;tfj;jpd; ePsk; kw;Wk; mfyk; KiwNa ghjp kw;Wk; ,Uklq;F vd khWk; NghJ 
gug;gstpy; Vw;glf;$ba khWk; rjtPjk; ahJ? 

 (A) 0%   (B) 55%  (C) 75%  (D) 80% 

 Ans - (A) 0%  

89. ‘A’ does a work in 10 days and ‘B’ does the same work in 15 days, In how many days they together will do 

the same work? 

 (A) 5 days  (B) 6 days  (C) 8 days  (D) 4 days 

 Ans - (B) 6 days  

A xU Ntiyia 10 ehl;fspy; Kbf;fpwhh; mNj Ntiyia B 15 ehl;fspy; Kbf;fpwhh;. ,uz;L 
NgUk; xNu Ntiyia Kbf;Fk; fhy msit. 

(A) 5 ehl;fs;  (B) 6 ehl;fs;  (C) 8 ehl;fs;   (D) 4 ehl;fs; 

 Ans - (B) 6 ehl;fs;  

90. Simplify : 4 – [ 6 – {12 – (10 - 8 + 6)}] 

 (A) 4  (B) 2  (C) 6  (D) 8 

 Ans - (B) 2 

 RUf;Ff : 4 – [ 6 – {12 – (10 - 8 + 6)}] 

 (A) 4  (B) 2  (C) 6  (D) 8 

 Ans - (B) 2 

91. ‘Clerk’ is related to ‘office’ with the same way as ‘servant’ is related to? 

 (A) House  (B) Boss  (C) Master  (D) Order 

 Ans - (A) House 

‘vOj;jhah;’ vd;w thh;j;ijf;F njhlh;Gila nrhy; ‘mYtyfk;’ mJNghy; ‘Ntiyahs;’ vd;w 
thh;j;ijf;F njhlh;Gila nrhy; vd;d? 

 (A) tPL  (B) njhopy; Kjy;th;  (C) vrkhd;  (D) cj;juT 

 Ans - (A) tPL  

92. Find out the missing term in the series 42, 30, -----------, 12, 6. 

 (A) 18  (B) 20  (C) 19  (D) 21 

 Ans - (B) 20  



General Studies            Prepared By winmeen.com 
Tnpsc Group 2 Previous Questions : https://goo.gl/PYqsd7   

 

Install Winmeen Mobile App : https://goo.gl/s3YY9V                                                         Page 27 of 28 

 

42, 30, -----------, 12, 6. vd;w njhlhpy; tpLg;gl;l vz;iz fhz;. 

 (A) 18  (B) 20  (C) 19  (D) 21 

 Ans - (B) 20  

93. One side of a rectangular field is 15 m and one of its diagonals is 17 m, then area of the field is 

 (A) 32 m
2
  (B) 120 m

2
  (C) 2 m

2
 (D) 60 m

2
  

 Ans - (B) 120 m
2
 

nrt;tf tbt epyj;jpd; xU gf;fk; 15 kP kw;Wk; mjd; xU %iy tpl;lk; 17 kP> vdpy; epyj;jpd; 
gug;gsT 

 (A) 32 kP2  (B) 120 kP 2  (C) 2 kP 2 (D) 60 kP 2  

 Ans - (B) 120 kP 2  

94. In how many years will a sum of money double itself at 12% per annum? 

 (A) 4 years 2 months   (B) 5 years 6 months 

 (C) 8 year 4 months   (D) 9 year 2 Months 

 Ans - (C) 8 year 4 months 

Mz;Lf;F 12 tl;b tPjk;gb> xU Fwpg;gpl;l njhifahdJ ,ul;bg;gila vLj;Jf; nfhs;Sk; 
Mz;Lfs; 

 (A) 4 Mz;L 2 khjq;fs;   (B) 5 Mz;L 6 khjq;fs; 

 (C) 8 Mz;L 4 khjq;fs;   (D) 9 Mz;L 2 khjq;fs; 

 Ans - (C) 8 Mz;L 4 khjq;fs; 

95. What sum of money will  amount to Rs. 2,704 in 2 years at 4 % C.I.? 

 (A) Rs. 2,000  (B) Rs.2,200  (C) Rs.2,500  (D) Rs.1,800 

 Ans - (C) Rs.2,500  

 ,uz;L tUlq;fSf;F 4 % $l;L tl;bapy; vt;tsT gzk; nrYj;jpdhy; & 2>704  

     fpilf;Fk;? 

 (A) &. 2,000  (B) &.2,200  (C) &.2,500  (D) &.1,800 

 Ans - (C) &.2,500  

96. The number of bits that a computer can process at any one time is called ------------- size 

 (A) Bit  (B) Byte  (C) Word  (D) Sentence 

 Ans - (C) Word  

 xU fzpzp xU Neuj;jpy; nray;gLj;j KbAk; gpl;fs; vz;zpf;if ------------ msT MFk; 

(A) gpl; (Bit)  (B) igl; (Byte)  (C) nrhy; (D) thp 
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Ans - (C) nrhy; 

97. When NOTA option was introduced in elections? 

 (A) 2012   (B) 2013  (C) 2014  (D) 2010 

 Ans - (C) 2014 

 Njh;jypy; Nehl;lh (NOTA) Kiw mwpKfg;gLj;jg;gl;l Mz;L 

 (A) 2012   (B) 2013  (C) 2014  (D) 2010 

 Ans - (C) 2014 

98. The Western Ghats is known as Sahyadri which means 

 (A) Ideal place  (B) Holy hill  (C) Facing the sea (D) Worship Place 

 Ans - (C) Facing the sea 

 Nkw;F kiyj; njhluhdJ iraj;hp vdTk; mwpag;gLfpd;wJ ,jd; nghUshdJ 

 (A) jdpj;Jtkhd ,lk;  (B) Gdpj kiy 

 (C) fliy Nehf;fp   (D) topghl;L jyk; 

 Ans - (C) fliy Nehf;fp 

99. Who visualized the earth was a floating sphere on the sea? 

 (A) Romans  (B) Greeks  (C) Egyptians  (D) Indians 

 Ans - (C) Egyptians  

 G+kp> flypy; kpjf;Fk; xU Nfhsk; vd fUjpath;fs; ahh;? 

(A) Nuhkhdpah;fs;   (B) fpNuf;fh;fs; 

(C) vfpg;jpah;fs;   (D) ,e;jpah;fs; 

 Ans - (C) vfpg;jpah;fs; 

100. Where was the first flood forecasting station was set up in India? 

 (A) Kolkatta  (B) Chennai  (C) Bhuvaneswar   (D) Delhi 

 Ans - (D) Delhi 

 ,e;jpahtpy; nts;s Kd;dwptpg;G epiyak; Kjd; Kjypy; vq;Nf mikf;fg;gl;lJ? 

 (A) nfhy;fj;jh  (B) nrd;id  (C) GtNd];th;   (D) nly;yp 

 Ans - (D) nly;yp 


